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QUESTION 1

When a new Service Provider is created, OTM automatically does which of the following? 

A. OTM assigns the default Calendar defined in the Parameter Set. 

B. OTM associates the Service Provider calendar with the calendar of the CORPORATION ID identified during setup. 

C. OTM sends an email or fax to the Service Provider contact, depending on the contact\\'s preferred contact method. 

D. OTM creates a corresponding LOCATION, with the location Role of "CARRIER". 

Correct Answer: A 

 

QUESTION 2

Identify the incorrect option pertaining to TiHi. 

A. This configuration captures the number of layers of boxes/cartons that can be stacked on the pallet. 

B. This is configured in Item Setup. 

C. This configuration captures the number of boxes/cartons stored on a layer. 

D. This configuration will impact mixed pallet functionality. 

Correct Answer: A 

 

QUESTION 3

Which option represents Original Invoice Cost field at Shipment? 

A. Contains the initial invoice amount adjusted by any additional charges or invoices that the carrier later sent to you 

B. Total Approved Cost on a sell Shipment 

C. The Initial invoice amount received from the carrier 

D. Total Actual Cost minus the rebate amount as defined in the Secondary Charge Rules 

Correct Answer: C 

 

QUESTION 4

Which four of the following components make up a Compliance Rule in Global Trade Management (GTM)? (Choose
four.) 

A. Regime 
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B. Control Type 

C. Region 

D. Control Code 

E. Commerce Control List 

Correct Answer: ABCD 

 

QUESTION 5

Your customer has implemented OTM and has a requirement to have a selected menu to be displayed 

separately. 

How should you assign this to a user? 

A. It is a customization that OTM does not support. 

B. Assign it via Manage User Access. 

C. Assign it in User Preference and assign this preference to User. 

D. Assign it in User Role ID. 

Correct Answer: B 
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